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1 ∫ 

𝒙𝟒+𝟏

𝒙𝟐+𝟏
dx is equal to 

(a) 
𝒙𝟑

𝟑
 + x + tan-1 x + c      (b) 

𝒙𝟑

𝟑
– x + tan x + c 

(c) 
𝒙𝟑

𝟑
 + x + 2tan-1 x + c   (d) 

𝒙𝟑

𝟑
– x + 2tan-1 x + c 

2 ∫(ex log a + ea log x + ea log a)dx 

   

     
 

3 If f and g are continuous functions in [0, 1] 
satisfying f(x) = f(a - x) and g(x) + g(a - x) = a, 

then ∫ 𝒇(𝒙)𝒈(𝒙)𝒅𝒙 
𝒂

𝟎
 is equal to  

(A)
𝒂

𝟐
        (B)a ∫ 𝒇(𝒙)𝒅𝒙

𝒂

𝟎
       (C) 

𝒂

𝟐
 ∫ 𝒈(𝒙)𝒅𝒙

𝒂

𝟎
        

(D)
𝒂

𝟐
∫ 𝒇(𝒙)𝒅𝒙

𝒂

𝟎
 

4 Evaluate∫ 𝒕𝒂𝒏 𝟑𝒙 𝒕𝒂𝒏 𝟐𝒙 𝒕𝒂𝒏 𝒙 𝒅𝒙 
5 Evaluate ∫

𝟏

𝒆𝐬𝐢𝐧 𝒙+𝟏
𝒅𝒙

𝟐𝝅

𝟎
 

6  Evaluate ∫ √𝐭𝐚𝐧 𝒙 𝒅𝒙 
7 Find ∫ 

𝒅𝒙

𝐬𝐢𝐧𝐱+𝐬𝐢𝐧𝟐𝐱
 

8 Evaluate ∫
𝐬𝐢𝐧 𝒙

𝐬𝐢𝐧 𝟑𝒙
𝒅𝒙 

9 Evaluate∫
𝟐𝐬𝐢𝐧 𝒙

𝟐𝐬𝐢𝐧 𝒙+𝟐𝐜𝐨𝐬 𝒙 𝒅𝒙
𝝅

𝟐
𝟎

 

 


